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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 224 14.1 4.2 25 56.5 99.6
2 224 13.9 3.4 25 55.6 99.6
3 224 12.2 4.9 25 49 99.6
4 224 12.3 4 25 49 99.6

56.5 

55.6 

49 

49 

0 10 20 30 40 50 60 70 80 90 100

1

2

3

4

Facility Factor % 

Q
ue

st
io

n 

GCE Health and Social Care Unit 6 1626-01 

Line

Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer all questions in the spaces provided.

1.	 (a)	 For each vehicle of transmission in the table below, identify one possible infection and list 
ways of minimising the transmission of disease.

Vehicle of 
transmission Possible infection Ways to minimise the 

transmission of disease

Food (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [1]

(ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [4]

Blood (iii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [1]

(iv)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [3]

Air (v)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [1]

(vi)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 [3]





Sticky Note
All good, but largely fails to make multiple points in the ways to avoid transmission answers, despite the mark allocations





Sticky Note
Illustrating the difference – just one point missed, and this because we counted using and binning tissues as one marking  point.
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	 (b)	 Water is a hugely important vehicle for the transmission of infectious diseases across the 
world. Read the following, based on an article published by the World Health Organisation 
(WHO) and answer the questions below:

		  A recent report concluded that poor water sanitation and a lack of safe drinking water kills 
more people than war, terrorism and weapons of mass destruction combined.

		  Experts say there are both short-term and long-term measures that can be taken to 
prevent the spread of waterborne illnesses. In the short term, they say people should 
wash their hands as much as possible, use a toilet even if it’s a hole in the ground, and 
boil water for drinking and cooking.

		  Analysts estimate that, for every £1 spent on eliminating deaths by waterborne diseases, 
there would be an economic return of between £3 and £34, depending upon the country.

	 (i)	 Explain how the short-term solutions suggested above work to reduce the spread 
of waterborne illnesses.	 [6]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	





Sticky Note
 
All three ideas with clear and correct “what it does and therefore…” explanations.  






Sticky Note
Demonstrates some idea of how one of the measures -  hand washing  - can reduce waterborne illness.





Sticky Note
Addresses all three ideas but shows limited ability to explain why they work
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(iii)	 Assess the cost effectiveness of the Bug Buster Kit campaign.	 [6]

Turn over.

1
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6
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7

2c









Sticky Note
Does a clear and well argued comparison of the two sets of expenditure and estimates a reasonable balance, just a little appreciation of caveats would have yielded top marks
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3.	 Vaccinations are an important part of modern healthcare.

	 (a)	 (i)	 Describe the type of immunity induced by a vaccination.	 [2]

	

	

	

	

	 (ii)	 Describe what a vaccine contains.	 [2]

	

	

	

	

	 (iii)	 Explain how lymphocytes respond to a vaccination.	 [4]

	

	

	

	

	

	

	

	

© WJEC CBAC Ltd.





Sticky Note
All there, always more detail could be given in (iii) but this is comprehensive enough for all marks.





Sticky Note
(ii) misses “small dose” (iii) a little “back to front” but enough relevant points





Sticky Note
(i) Misses “Active” (iii) Marks for antibodies and response to pathogen
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	 (b)	 The World Health Organisation (WHO) defines the concept of health as a state of complete 
physical, mental, and social well-being and not merely the absence of disease or infirmity.

This definition encourages a holistic approach to the management and promotion of 
health.

Discuss the meaning of the term ‘holistic’ in the context of the WHO definition.	 [10]

© WJEC CBAC Ltd.

4









Sticky Note
Also refers to a small number of factors, but more cogently expressed, and showing clearer understanding of the philosophical underpinning of the WHO model of health.









Sticky Note
Refers to a small number of relevant factors (making canny use of Q1!) and WHOs role in promoting health projects.





Sticky Note
Makes some statements that show understanding beyond the root of the question, but poorly expressed and showing little idea of the role of WHO.
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UNIT 6 
 


 


Question Answer Mark AO1 AO2 AO3 AO4 


1. (a) (i) Award 1 mark for a correct identification of one 
infection caused by food. 
 
Any one from: 


 tapeworm 


 food poisoning 


 named food poisoning, e.g. salmonella 


 any water-transmitted disease, e.g. typhoid 


1 1    


  (ii) Award 1 mark for each way transmission of disease 
through food may be minimised, up to a maximum of 
4 marks. 
 
Likely answers may include: 


 preparation hygiene 


 appropriate storage 


 monitoring shelf life 


 adequate cooking 


 temperature maintenance before serving 


 elimination of disease in livestock 


4 4    


  (iii) Award 1 mark for a correct identification of one 
infection transmitted by blood. 
 
Any one from: 


 HIV/AIDS 


 hepatitis 
 


(Any other correct answer.) 


1 1    


  (iv) Award 1 mark for each way transmission of infection 
by blood can be minimised, up to a maximum of 3 
marks. 
 
Likely answers may include: 


 avoidance of blood-to-blood contact 


 barrier methods, e.g. gloves for first aiders/ 
medical staff 


 use of condoms 


 elimination of use of transfusion blood 
contaminated with disease 


 no needle sharing 


 honest communication with sexual partners 


3 3    


  (v) 1 mark for each correct identification of one infection 
transmitted through the air. 
 
Any one from: 


 flu 


 common cold 


1 1    
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (a) (vi) Award 1 mark for each correct way in which 
transmission of disease through air may be 
minimised, up to a maximum of 3 marks. 


Likely answers may include: 


 barrier methods


 use of handkerchiefs, face masks


 quarantine/stay at home


 disinfection of surfaces


 appropriate immunisation


 regular hand washing


3 3 





		Blank Page
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (b) (i) 0-2 marks:  Answers which show limited 
understanding of all three measures or good 
understanding of one of the measures.  Answers 
convey meaning but lack detail.  Little or no use of 
specialist vocabulary. 


3-4 marks:  Answers which show some 
understanding of the principles and reasons for all 
three measures, or good understanding of two of 
the measures.  Answers convey meaning, with 
some use of specialist vocabulary. 


5-6 marks:  Answers which discuss the principles 
and reasons for all three measures, with evidence 
of clear understanding.  Answers are well structured 
and clearly expressed.  Specialist terms used with 
ease and accuracy. 


Likely answers may include: 


 basic toilet containment, like a hole in the ground,
can keep the infectious organisms in sewage
away from people and their drinking water supply


 hand washing (again, in a place well separated
from the drinking water supply), removes
pathogens from the hands, reducing the risk of
passing these on through contact/food
preparation


 boiling water kills pathogens in the water,
rendering the water safe for drinking and food
preparation; secure storage of pre-boiled water
prevents re-infection of the water.


6 2 4 
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Question Answer Mark AO1 AO2 AO3 AO4 


2. (c) (i) Award up to 2 marks for a detailed explanation of the 
change in spending. 


Likely answers may include: 


 expenditure on Bug Buster Kits went up markedly
in the second year


 increase from a few hundred to over a thousand
pounds (or reasonable specific estimates)


 increase in cost for second year a little more than
a thousand pounds (or reasonable specific
estimate of increase)


2 2 


(ii) Award up to 2 marks for a detailed explanation of the 
effect on spending. 


Likely answers may include: 


 expenditure on insecticide treatments decreased
in second year


 indicating effectiveness of Bug Buster Kits in
reducing infection


 down from over £9,000 to just under £6,000 (or
reasonable specific estimates)


 total expenditure saved on insecticide in second
year estimated (reasonable estimate, say £3,000-
£3,500)


2 2 


 (iii) 0-3 marks:  Answers which show some ability to 
relate the figures on the chart to estimates of the 
balance of expenditure, and draw some conclusion.  
Answers convey meaning but lack detail.  Little or no 
use of specialist vocabulary. 


4-6 marks:  Answers which show clear 
understanding of how figures on the chart relate to 
estimates of the balance of expenditure.  Answers 
draw a clear and reasonable conclusion.  Answers 
will recognise the need to take account of costs and 
benefits not illustrated in the chart.  Answers convey 
meaning, with good use of specialist vocabulary. 


Likely answers may include: 


Increased expenditure on kits is more than balanced 
by reduced expenditure on insecticide.  A numerical 
estimate of balance (credit anything reasonable) is 
probably in the range £1,300 - £2,000.  Therefore, 
the campaign would appear to be cost-effective.  
Better answers will realise that expenditure on 
materials is not the full economic story, and that the 
costs of promoting and administering the campaign 
need to be considered, as do savings on doctors, 
and pharmacists’ time. 


6 4 2 





		Blank Page

		Blank Page
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (a) (i) Award a maximum of 2 marks for a detailed 
description of vaccination-induced immunity. 


Likely answers may include: 


 active


 artificially induced


2 2 


(ii) Award 1 mark for identification of what a vaccination 
contains. 


Award 2 marks for a description. 


Likely answers may include: 


 a small dose of the disease


 which has been weakened or killed


2 2 


(iii) Award 1 mark for each correct point made, up to a 
maximum of 4 marks. 


Likely answers may include: 


 the production of specific antibodies


 in response to particular antigens


 which will neutralise the infection


 memory lymphocytes remain


 enabling a faster more effective response to
subsequent infections


4 2 2 
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Question Answer Mark AO1 AO2 AO3 AO4 


4. (b) 0-3 marks:  Answers which show limited 
understanding of the fact that health status is 
usually related to underlying social and economic 
factors, and that a holistic system would address 
these alongside direct treatment of ill-health.  
Answers are illustrated by reference to one of these 
factors.  Answers convey meaning but lack detail.  
Little or no use of specialist vocabulary. 


4-7 marks:  Answers which show understanding of 
the fact that health status is usually related to 
underlying social and economic factors, and that a 
holistic system would address these alongside 
direct treatment of ill-health.  Answers are Illustrated 
by reference to more than one example of 
underlying factors.  Answers convey meaning, with 
some use of specialist vocabulary. 


8-10 marks:  Answers which show thorough 
understanding of the fact that health status is 
usually related to underlying social and economic 
factors, and that a holistic system would address 
these alongside direct treatment of ill-health.  
Answers are Illustrated by reference to a wide 
range of underlying factors.  Answers are well 
structured and clearly expressed.  Specialist terms 
used with ease and accuracy. 


Likely answers may include: 


Holistic in this context implies: 


 not just consideration of the ill-health itself but
also the underlying causes of the ill-health


 consideration of physical, social, emotional and
social well-being needs to be made


 aggravating factors such as poverty, poor water
supply/sanitation, poor work and employment
practice, need to be considered


 programmes of preventative education need to
be provided


 care for the elderly and other disadvantaged
groups needs to be considered


 needs to be recognised that traditional and
alternative therapies have a role to play in
‘complete well-being’ for many people and
cultures.


10 4 2 4 
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UNIT 7 - COURSEWORK ASSIGNMENT 
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Criteria for mark allocation Guidance Marks 


Candidates will be expected to: 


 state the aims of their coursework 
assignment 


 use a variety of resources to investigate the 
chosen assignment 


 identify and interpret issues relevant to the 
assignment 


 use investigation to assemble relevant 
information 


 


 


Poorly formulated aims, little evidence of 
background knowledge and a restricted 
investigation of the issues relevant to the 
assignment. 
 
Evidence will reflect lack of understanding.  No 
use of specialist vocabulary.  Work will contain 
inaccuracies. 


 Basic identification of needs. 
 


 List of services to meet needs/brief 
descriptions. 0-10 


Aims are restrictive, limited resources used to 
investigate.  Little evidence of investigation of 
issues relevant to the assignment. 
 
Evidence will communicate meaning but will 
lack detail.  Little use of specialist vocabulary.  
Work may contain inaccuracies. 


 Brief description of care needs/effects of 
condition – some of which may be may 
be omitted. 
 


 Basic descriptions of care services - 
some of which may be irrelevant  


11-20 


The aims are clearly expressed and a range of 
resources used to investigate the assignment.  
Evidence presented demonstrates an 
understanding of issues relevant to the study. 
 
Evidence at this level will be structured clearly 
to communicate meaning.  Technical 
vocabulary will be used accurately.  Work will 
contain relatively few errors. 


 Clear descriptions of the care needs, 
showing knowledge of the effects of the 
condition. 


 Clear descriptions of a range of care 
services from the different sectors, 
describing how they support the care 
needs of the condition. 


 Local provision should be identified. 


 Some reference may be made to 
statutory, private, voluntary provision. 


 Some referencing may be present. 


21-30 


The aims are comprehensive, realistic and well 
expressed.  The candidate has demonstrated 
knowledge and has been selective in their 
choice of resources used to investigate.  
Evidence presented shows sound 
understanding of issues raised by the study. 
 
Evidence at this level is well structured and 
clearly expressed.  Specialist terms will be 
used with ease and accuracy.  Work will be 
largely error free. 


 Clear explanation of the care needs, 
showing thorough knowledge and 
understanding of the effects of the 
condition. 


 Clear descriptions of a wide range of 
care services from the different sectors, 
explaining how they support the care 
needs of the condition. 


 Knowledge and understanding of 
statutory, private, voluntary provision 
shown. 


 Local provision must be identified. 


 Evidence of referencing must be present. 


31-40 
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Criteria for mark allocation Guidance Marks 


Candidates will be expected to: 


 apply knowledge and understanding to the 
chosen assignment 


 use both primary and secondary research to 
support their findings 


 analyse and discuss findings in relation to the 
chosen assignment 


 


 


Limited knowledge and understanding of the 
requirements of the assignment.  Minimal attempt 
to analyse and interpret findings. 
 
Evidence will reflect lack of understanding.  No 
use of specialist vocabulary.  Work will contain 
inaccuracies. 


 Not all sections of the work addressed. 
 
or 
 


 Very brief descriptions, some of which may be 
irrelevant or inaccurate. 


0-8 


Demonstrates knowledge with limited 
understanding of the assignment.  A limited range 
of research is used to support the findings.  
Restricted analysis and interpretation of the 
findings. 
 
Evidence will convey meaning but will lack detail.  
Little use of specialist vocabulary.  Work may 
contain inaccuracies. 


 Basic descriptions of most of the requirements 
of the section (2/3 of the 4) – some work may 
be irrelevant or inaccurate. 


 


 Possibly factual/generic information with little 
or no attempt to link to individual/service 
provision. 


9-16 


Demonstrates sound knowledge and 
understanding of the assignment.  Appropriate 
primary and secondary research is used to 
support findings.  Clear analysis and 
interpretation of the findings. 
 
Evidence at this level will be structured clearly to 
communicate meaning.  Technical vocabulary will 
be used accurately.  Work will contain relatively 
few errors. 


 Evidence of at least three sections should be 
included: 
 Practitioners – identified with brief 


description of how they support individuals. 
 Care planning – identification of stages 


with some reference to individual/ 
service provision. 


 Quality assurance (QA) – should describe 
several methods of QA with some 
reference to how they support the 
individuals’ care and/or service provision. 


 National policy and legislation – several 
different types should be addressed 


17-26 


Demonstrates detailed knowledge and a thorough 
understanding of the assignment.  A range of 
both primary and secondary research is used 
confidently in support of the findings.  Sound and 
comprehensive analysis and interpretation of the 
findings. 
 
Evidence at this level is well structured and 
clearly expressed.  Specialist terms will be used 
with ease and accuracy.  Work will be largely 
error-free. 


 Evidence of all sections must be included, 
showing knowledge and understanding of how 
they support the individuals: 
 Practitioners – a range is identified, with 


explanation of how each one supports the 
individual and how they work together as a 
multi-disciplinary team. 


 Care planning – showing clear 
understanding of the process and the 
effects on the chosen individual/service 
provision. 


 Quality assurance (QA) – should explain 
how several different methods of 
appropriate QA affect services used/ 
care provided for the chosen individual(s). 


 National policy and legislation – several 
different types should be addressed, 
showing clear understanding of the effect 
on individual/services used. 


 


 Evidence of referencing must be present. 


27-35 
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Criteria for mark allocation Guidance Marks 


Candidates will be expected to evaluate:  


 methods used to obtain information 
and evidence  


 outcomes of the assignment 


Marks can be awarded in two sections: 
up to 12 marks if only evaluation of 
methods used to collect data; 
up to 13 marks if only evaluation of the 
findings of the assignment. 


Marks in 
brackets 
apply if only 
one section 
of work is 
addressed 


Brief description of the strengths and 
weaknesses of the assignment, with one 
or two comments on methodology.  
Outcome does not address the issues of 
the assignment and may be limited to 
one area. 
 


Evidence will reflect lack of 
understanding.  No use of specialist 
vocabulary.  Work will contain 
inaccuracies. 


 Identification of resources used – brief 
descriptions of how they were 
used/what they were used for 
(bibliography or a list of 
books/websites).  


 


 Little or no attempt to discuss findings 
of the assignment. 


 


 May discuss strengths or weaknesses 
of work 


0-6 
 


(0-3) 


Describes the strengths and weaknesses 
of the assignment with superficial 
comments on methodology.  Outcome 
addresses the assignment but 
knowledge is limited and presentation is 
basic. 
 


Evidence will convey meaning but will 
lack detail.  Little use of specialist 
vocabulary.  Work may contain 
inaccuracies. 


 Basic descriptions of one or two 
resources used; brief comments as to 
how useful or not they were. 


 


 Brief description of how service 
provision meets individuals needs; 
possibly a repeat of AI. 


7-12 
 


(4-6) 


Realistic evaluation of the assignment 
with justification for the methodologies.  
Outcome demonstrates knowledge and 
understanding of the study and 
addresses the issues identified.  Work is 
well presented and may contain several 
well thought out and differing ideas. 
 


Evidence at this level will be structured 
clearly to communicate meaning.  
Technical vocabulary will be used 
accurately.  The work will contain 
relatively few errors. 


 Detailed descriptions of several 
resources used, including specific 
names, clearly showing advantages 
and disadvantages of each.  May 
include suggestions for other methods 
to be used. 


 


 Some attempt to evaluate the findings 
of the assignment – Is local service 
provision good or not?  Reference 
may be made to national policy/ 
demographics/funding. 


13-18 
 


(7-9) 


Thorough and comprehensive evaluation 
with sound justification of the 
methodologies used.  Use of reasoned 
judgements to draw valid conclusions 
from all evidence present which are clear 
and detailed in order to produce a high 
standard evaluation. 
 


Evidence at this level is well structured 
and clearly expressed.  Specialist terms 
will be used with ease and accuracy.  
Work will be largely error free. 


 Detailed evaluation and justification of 
the use of a range of resources 
(including specific names/titles) to 
include both primary and secondary 
data – use of Internet, text books, 
magazines, local health directories, 
questionnaires, interviews, etc. 
 


 Valid conclusions made to evaluate 
local service provision with reference 
to the amount of services available, 
access and barriers to care; national 
policy and funding and national and 
local priorities. 


19-25 
 


(9-12) 
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